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QUESTION 1

You want to use table compression suitable for OLTP that will: 

1. 

Compress rows for all DML statements on that table 

2. 

Minimize the overheads associated with compression. 

Which compression option is best suited for this? 

A. COLUMN STORE COMPRESS FOR ARCHIVE HIGH 

B. ROW STORE COMPRESS ADVANCED 

C. COLUMN STORE COMPRESS FOR ARCHIVE LOW 

D. ROW STORE COMPRESS BASIC 

E. COLUMN STORE COMPRESS FOR QUERY LOW 

Correct Answer: B 

Reference: https://www.oracle.com/technetwork/database/options/compression/advanced-
compressionwp-12c-1896128.pdf%20(6) 

 

QUESTION 2

Which is true about security rules on a compute node? 

A. The port used for HTTPS connections is enabled by default based on a predefined security rule. 

B. A security rule can restrict IP addresses that can connect to a database instance on a compute node. 

C. A new database deployment on a compute node automatically enables a set of predefined security rules. 

D. New security rules can be defined to use only the TCP protocol but multiple port numbers. 

E. A compute node port can be enabled only if it is associated with an existing security rule. 

Correct Answer: C 

 

QUESTION 3

Examine this command and its partial output: 
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Why does the DB01.abc.com service show unknown status? 

A. The listener does not listen on the default port 1521. 

B. The SID_LIST_LISTENER section is missing in the LISTENER.ORA file. 

C. The service is dynamically registered. 

D. The service is statically registered. 

E. The LOCAL_LISTENER parameter list does not contain LISTENER_1. 

Correct Answer: B 

 

 

QUESTION 4

Which two are true about Oracle database wait events that are described in V$EVENT_NAME? (Choose two.) 

A. They reveal the cause of performance problems. 

B. They are grouped into classes. 

C. They are maintained at the session and system level. 

D. They display how often a database instance performs particular operations. 

E. All events might be used by an instance regardless of parameter settings. 

Correct Answer: AB 

Reference: https://docs.oracle.com/cd/B28359_01/server.111/b28320/dynviews_1117.htm#REFRN30079 

 

QUESTION 5

In the ORCL database, DEFERRED_SEGMENT_CREATION is FALSE. 

Examine this command: 
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Which table segments are created? 

A. T1 and an index segment created for the primary key only 

B. T1, an index segment for the primary key, a LOB segment, and lobindex segment 

C. T1 only 

D. T1, an index segment for the primary key, and a LOB segment only 

Correct Answer: D 

 

 

QUESTION 6

Which two are true about complete recovery? (Choose two.) 

A. The database must have FLASHBACK enabled in order to perform it. 

B. It is possible only when the database is in MOUNT state 

C. Uncommitted transactions will be rolled back after it completes. 

D. Incremental backups can be used to roll forward the database while performing it. 

E. Only RMAN backupsets can be used to restore a database as part of it. 

Correct Answer: AB 

 

QUESTION 7

Which two statements are true about Oracle Data Pump? (Choose two.) 

A. expdp and impdp are its client components. 

B. impdp always uses conventional path inserts when importing data. 

C. The DBMS_DATAPUMP package can be used only with Data Pump clients 

D. It cannot be used to export data as of a previous SCN. 

E. impdp can change target data file names, schemas, and tablespaces during import. 

Correct Answer: AC 

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14215/dp_overview.htm 

 

QUESTION 8

Which is true about the UNLIMITED TABLESPACE SYSTEM privilege? 
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A. It can be granted to any user and any role. 

B. It is overridden by any specified user space quota. 

C. It allows a user to have unlimited space in any tablespace in the database. 

D. It allows a user to have unlimited space only in his or her default permanent tablespace. 

E. It can be revoked from a user and replaced with a specific space quota only if no user schema objects exist. 

Correct Answer: C 

Reference: https://developer.ibm.com/answers/questions/301800/is-it-required-to-grant-unlimitedtablespace-permi/ 

 

QUESTION 9

Examine these commands: What is the expected result? 

A. It fails because EMP.DAT has some records with more than three characters corresponding to U1.EMP.ENAME. 

B. Only the first row in EMP.DAT is inserted into U1.EMP. 

C. Only the first and fourth rows in EMP.DAT are inserted into U1.EMP. 

D. All rows in EMP.DAT are inserted into U1.EMP but ENAME is set to ### for the second and third rows. 
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E. All rows in EMP.DAT are inserted into U1.EMP but ENAME is set to NULL for the second and third rows. 

Correct Answer: D 

 

 

QUESTION 10

Which is true about unexpired undo? 

A. It is required when a transaction rolls back. 

B. It may be used to support flashback queries. 

C. It consists of undo only for uncommitted transactions. 

D. It is always retained for the time specified in UNDO__RETENTION. 

E. It is the first type of undo overwritten when trying to avoid out-of-space errors. 

Correct Answer: D 

 

QUESTION 11

Which two are true about Oracle Database Cloud Service (DBCS)? (Choose two.) 

A. Third-party tools can be used with database instances in the cloud. 

B. Oracle-supplied tools can be used with database instances in the cloud. 

C. Database instances in the cloud can be accessed only by using SSH. 

D. DBCS only creates compute nodes; the Oracle Database software must be installed and the database created. 

E. Database instances in the cloud can be accessed only by using Oracle*Net. 

Correct Answer: BC 

 

QUESTION 12

Which two tasks can you perform by using DBCA for a new database? 

A. Register it with an available Enterprise Manager Management server. 

B. Configure a nonstandard block size. 

C. Configure incremental backups. 

D. Enable flashback. 

E. Create user tablespaces. 
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Correct Answer: AE 

 

QUESTION 13

Which two are true about Oracle recovery and data protection solutions? (Choose two.) 

A. RMAN can be used to FLASHBACK a database. 

B. RMAN can be used to roll back committed transactions. 

C. Data Recovery Advisor can be used to restore a single file from an RMAN backupset. 

D. Data Recovery Advisor can be used to validate backup strategies. 

E. Oracle Data Guard can prevent data loss caused by a site failure. 

Correct Answer: AE 

 

 

QUESTION 14

Examine the command: 

Which two are true? (Choose two.) 

A. The PASSWORD EXPIRE clause is invalid because passwords are controlled by the HR_USER profile. 

B. USER1 requires a quota to be able to store objects in the default permanent tablespace. 

C. USER1 will be prompted for a new passport at first login. 

D. A quota on the temporary tablespace must be specified to enable USER1 to perform queries and transactions. 

E. USER1\\'s account is locked. 

Correct Answer: BD 
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QUESTION 15

Which three actions are required to manually upgrade a database to Oracle Database 12c Release 2? (Choose three.) 

A. Run the Pre-Upgrade information tool on the source database. 

B. Take all user tablespaces offline before starting the upgrade. 

C. Copy the network configuration files from the existing database home to the new Oracle home location. 

D. Run the Parallel Upgrade utility from the new Oracle home. 

E. Run Oracle Net Configuration Assistant (NETCA) to configure the listening protocol address and service information
for the new release of Oracle Database. 

F. Make all user tablespaces "read only" before starting the upgrade. 

G. Start the existing database in upgrade mode. 

Correct Answer: ADG 

Reference: https://oracle-base.com/articles/12c/upgrading-to-12c#manual-upgrades 
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